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= 440,254
Al 2,557,272
NETHEALALY 2tel 2 2,557,272 619,778 1,937,494
201 Let24d] 142,286 161,100 A 18,814
01 At 22l 129,386 150,876 A 21,490
O L=t 124,858
o NEMWEZAANY EE2E S+
80,000& = 23| * 30 480
o NHMEAANY 22 23 M=
7,000& = 5004 3,500
o NHMEAAMY X Teis28 B2
223 5,438
- EHEX(A0) 27,500& * 158 » 33 1,238
- 243, olE, 32l (SET)
350,000 * 641 * 23 4,200
o NETMZEMN ZHIME LFEIIL4E
45,0002 * 1,000 Xl * 204 At 90,000
o NEMEA Z2EHZ S =2 22,600
— AP XL 280,000& * 70A 19,600
- =gNR 150,000& * 20A 3,000
o XNEMWEAXRH 2 =2
284,000& = 10 X 2,840
O 284 1,000
o NEMWEARARS S
100,000& = 5% = 13 500
o JHZBEAAS FA=E
100,000& = 5% « 13 500
O =&l 3,528
o XNETHEAAY SR EXNSEESIZAN el
= 8,000& = 3H * 6¥ » 123 1,728
o NAEMMEAMANY NHEdHe ¥ EHXEY S
8,000& = 3% = 25¢ « 33| 1,800
02 =224l 12,900 10,224 2,676
O 33223 ¥ HA 12,900
o NEMHEZAAY UaX A7 SES &
S(SIH)U2 2,150& = 1,5008 * 43| 12,900
202 o4dl 8,460 8,340 120
01 = LH o4 1l 8,460 8,340 120
O NETHZAL HatXl && & XA 1,900
o = X 20,0003 = 29 = 10 400
o & A 50,000 = 2% = 15¢ 1,500
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A NEEE 2 (ZELXNIAML/NSLEZ AL
S XETHEAIALS 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O XNETEA =UEHZ & OIYMHET HE
g E 1,000
o = X 20,000 = 2% = 203/ 800
o & A 50,000& = 2H =« 23| 200
O NBTHEAAIL X7 EXNEEZAL & SSY
3 20,0003 = 2 * 8 * 102 3,200
O MA=XAH SS8 S84 M
20,0003 = 2H » 25¢ 1,000
O NETHEAMMY &R SL.& 312 & R
g2 &4 85,0003 = 2 * 2& * 43 1,360
301 LEd = 2,406,526 450,338 1,956, 188
1224 = 2,406,526 450,338 1,956, 188
O MEA2ZXNF 2E3 X2 2,406,526
o LA 800,226,570& * 14 800,227
o BEEE 1,606,298,970& * 14 1,606,299
KEWEAAY ZZ 440,254 273,000 167,254
2 440,254
201 ¢er24] 440,254 273,000 167,254
= 440,254
01 At 22l 440,254 273,000 167,254
O e8| 440,254
o XNEMEA 2 =5 (018, 45 ,01F 2
,2972 Xl ) 440,254
- g0l 173,571,000& * 14 173,571
= 173,571
- A58S 63,744,000& * 14l 63,744
= 63,744
- &% 202,939,000& * 14! 202,939
= 202,939
HE2AZHI (AKX E ) (IEHIIEL) 238,541 236,036 2,505
el 2l 25,700 24,408 1,292
ol 2| 25,700 24,408 1,292
101 @124l 25,700 24,408 1,292
03 RIHAZ 22 = 25,700 24,408 1,292
O A28 25,700
o <Ip>EZ(QIACHLY)
11,8982 » 6 » 20AI2+ = 12& * 150% 25,700
Jl=&l 212,841 211,628 1,213
Jl2ztl 212,841 211,628 1,213
201 Let24d] 187,171 184,369 2,802
01 AtR el 159,347 156,545 2,802
O LBt==ZHl SHAL  114,089,000& = 14 114,089
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O S AN 27.,258,0008 * 14| 27,258
02 E2=2=2%H| 27,824 27,824 0
O 2222 2 HMAH SHHA
27,824,000 * 14! 27,824
202 o4 | 20,330 21,919 AN 1,589
01 2Ll 20,330 21,919 A 1,589
O BEA2d 20,330,000 = 14 20,330
203 &R =T Y| 5,340 5,340 0
04 EASHEYGRF 5,340 5,340 0
O YIJAXHE
(400,000 + (5,000& = 99)) » 12& 5,340




